	SPREADSHEET FOR BID 034-JJ01			,	LANIS SECURITY INC.	ALLIED BART	ON SERCURITY SERVICES,LLC
TEM	DESCRIPTION OF THEM	EST.	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price
	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV, and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.						
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE			·			
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.90	\$67,481.70	\$21.65	\$86,448.45
1B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.95	\$357,828.25	\$19.49	\$466,493.15
IC	Unarmed Security Guard (as per bid specifications)	11,967	Hours	- \$11.49	\$137,500.83	\$16.32	\$195,301.44
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C				NON- \$562,810.78 RESPONSIVE		\$748,243.04
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET			-			
A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.90	\$67,481.70	\$21.65	\$86,448.45
в	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.95	\$357,828.25	\$19.49	\$466,493.15
С	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.49	\$137,500.83	\$16.32	\$195,301.44
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C				NON- \$562,810.78 RESPONSIVE		\$748,243.04
_	GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis. Vendors must bid all items.						
4	NW 54TH STREET TO FLAGLER STREET						
1	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.90	\$67,481.70	\$21.65	\$86,448.45
4	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.95	\$357,828.25	\$19.49	\$466,493.15
1	Inarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.49	\$137,500.83	\$16.32	\$195,301.44
	TOTAL LOW GROUP ITEMS 3 THROUGH 3C				NON- \$562,810.78 RESPONSIVE		\$748,243.04

	SPREADSHEET FOR BID 034-JJ01			ARRO	DW SECURITY CORP.	BAYU	S SECURITY SERVICES INC.
TEM	SESSITI TICK OF FIELD	EST.	UNIT	PRICE PER UNIT	Extended Price	PRICE	Extended Price
	All armed security guard services are to be turnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV, and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.			ren UNIT		PER UNIT	
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE						
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.85	\$79,261.05	\$12.95	\$51,709.35
B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$18.50	\$442,797.50	\$11.90	\$284,826.50
ıc	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$14.25	\$170,529.75	\$10.67	\$127,687.89
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C				\$692,588.30		PRIMARY Meeting \$464,223.74 Specification
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET						
٩	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.85	\$79,261.05	\$12.95	\$51,709.35
в.	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$18.50	\$442,797.50	\$11.90	\$284,826.50
<u>c</u>	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$14.25	\$170,529.75	\$10.67	\$127,687.89
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis.				\$692,588.30	1	PRIMARY Meeting \$464,223.74 Specification
4	Vendors must bid all items.						
Т	NW 54TH STREET TO FLAGLER STREET Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	eigor	670.061.05	1	A54 700 05
1	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$19.85 \$18.50	\$79,261.05 \$442,797.50	\$12.95 \$11.90	\$51,709.35 \$284,826.50
ļ	Inarmed Security Guard (as per bid specifications)	11,967	Hours	\$14.25	\$170,529.75	\$10.67	\$127,687.89
	FOTAL LOW GROUP ITEMS 3 THROUGH 3C				\$692,588.30] 	PRIMARY Meeting \$464,223.74 Specifications

	SPREADSHEET FOR BID 034-JJ01				HI-ADA SECURITY	DBH SECUR	RITY& MULTIPLE SERVICES
ΓĘΜ	DEGOTIL FICH OF FIEW	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price
·····	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV, and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.						
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.			-			
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE						
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$24.50	\$97,828.50	\$15.85	\$63,289.05
18	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$22.50	\$538,537.50	\$15,85	\$379,369.75
1C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$16.00	\$191,472.00	\$ 15,00	\$179,505.00
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C				\$827,838.00		\$622,163.80
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET						
2A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$24.50	\$97,828.50	\$15.85	\$63,289.05
2B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$22.50	\$538,537.50	\$15.85	\$379,369.75
2C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$16.00	\$191,472.00	\$15.85	\$189,676.95
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis.				\$827,838.00		\$632,335.75
4	Vendors must bid all items.						
7	NW 54TH STREET TO FLAGLER STREET						
A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$24.50	\$97,828.50	\$15.85	\$63,289.05
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$22.50	\$538,537.50	\$ 15.85	\$379,369.75
c l	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$16.00	\$191,472.00	\$15.85	\$189,676.95
	TOTAL LOW GROUP ITEMS 3 THROUGH 3C				\$827,838.00		\$632,335.75

	SPREADSHEET FOR BID 034-JJ01			FEICK SE	CURITY CORPORATION	FIFTY (50) ST	ATE SECURITY SERVICE, INC.
TEM	DESCRIPTION OF ITEM	EST.	UNI	1	Extended Price	PRICE	Extended Price
	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV, and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.			PER UNIT		PER UNIT	
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.	·					
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE						
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$25.00	\$99,825.00	\$25.00	\$99,825.00
18	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$20.00	\$478,700.00	\$21.00	\$502,635.00
1C	Unarmed Security Guard (as per bid specifications)	-11,967	Hours	\$18.00	\$215,406.00	\$18.00	\$215,406.00
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C				\$793,931.00	·	\$817,866.00
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET						
2A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$25.00	\$99,825.00	\$25.00	\$99,825.00
2В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$20.00	\$478,700.00	\$21.00	\$502,635.00
2C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.00	\$215,406.00	\$18.00	\$215,406.00
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis.				\$793,931.00		\$817,866.00
4	Vendors must bid all items.						
4	NW 54TH STREET TO FLAGLER STREET						
A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$25.00	\$99,825.00	\$25.00	\$99,825.00
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$20.00	\$478,700.00	\$21.00	\$502,635.00
С	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.00	\$215,406.00	\$18.00	\$215,406.00
ļ	TOTAL LOW GROUP ITEMS 3 THROUGH 3C				\$793,931.00		\$817,866.00

	SPREADSHEET FOR BID 034-JJ01			GU	ARD ONE SECURITY	JUNO SECUR	ITY AGENCY MULTI SERVICES, INC
EM	DESCRIPTION OF THEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price
	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(i,ii,iii,iv, and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.			LINGHY		PEH OMI	
-	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE						
A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.50	\$65,884.50	\$87.85	\$350,769.08
1B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$ 15.50	\$370,992.50	\$478.70	\$11,457,684.50
1C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.00	\$143,604.00	\$191.47	\$2,291,345.42
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C			·	\$580,481.00		\$14,099,799.00
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET						
A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.5O	\$65,884.50	\$87.85	\$350,769.08
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$ 15.50	\$370,992.50	\$478.70	\$11,457,684.50
с	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.00	\$143,604.00	\$191.47	\$2,291,345.42
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis.			PE-las	\$580,481.00		\$14,099,799.00
	Vendors must bid all items.						
4	NW 54TH STREET TO FLAGLER STREET						
A.	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.50	\$65,884.50	\$87.85	\$350,769.08
7	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$15.50	\$370,992.50	\$478.70	\$11,457,684.50
4	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.00	\$143,604.00	\$191.47	\$2,291,345.42
	TOTAL LOW GROUP ITEMS 3 THROUGH 3C				\$580,481.00		\$14,099,799.00

ЕМ	SPREADSHEET FOR BID 034-JJ01			к	ENT SECURITY SERVICES		NOR-SEG
EM	DESCRIPTION OF FIELD	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price
	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.	,					
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE						
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$15.80	\$63,089.40	\$21.33	\$85,170.69
1B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.50	\$347,057.50	\$20.00	\$478,700.00
1C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.90	\$154,374.30	\$17.27	\$206,670.09
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C				2nd \$564,521.20 ALTERNATE		\$770,540,78
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.						
_	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET						
A.	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$15.80	\$63,089.40	\$21.33	\$85,170.69
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.50	\$347,057.50	\$20.00	\$478,700.00
c	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.90	\$154,374.30	\$17.27	\$206,670.09
ļ	TOTAL LOW GROUP ITEMS 2 THROUGH 2C				2nd \$564,521.20 ALTERNATE	-	\$770,540.78
1	GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis. Vendors must bid all items.						
_	NW 54TH STREET TO FLAGLER STREET						
4	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$15.80	\$63,089.40	\$21.33	\$85,170.69
3 A	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.50	\$347,057.50	\$20.00	\$478,700.00
: [Inarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.90	\$154,374.30	\$17.27	\$206,670.09
1	FOTAL LOW GROUP ITEMS 3 THROUGH 3C				2nd \$564.521.20 ALTERNATE		\$770.540.78

	SPREADSHEET FOR BID 034-JJ01			PHILADELI	PHIA PROTECTION SERVICE		Rafiu-Abena security corp
ΓEΜ	DESCRIPTION OF ITEM	EST.	UNIT	PRICE PER UNIT	Extended Price	PRICE	1
	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV, and V).will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.			PER UNII		PERUN	41
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE						
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.30	\$77,064.90	\$13.69	\$54,664.17
1B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$19.30	\$461,945.50	\$11.79	\$282,193.65
1C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.38	\$219,953.46	\$10.29	\$123,140.43
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C				\$758,963.86		Non- \$459,998.25 Responsi
	GROUP II: ttems 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.						
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET						
	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.30	\$77,064.90	\$13.69	\$54,664.17
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$19.30	\$461,945.50	\$11.79	\$282,193.65
с	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.38	\$219,953.46	\$10.29	\$123,140.43
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C				\$758,963.86		Non- \$459,998.25 Responsiv
	GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis. Vendors must bid all items.						
	NW 54TH STREET TO FLAGLER STREET						
	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.30	\$77,064.90	\$13.69	\$54,664.17
3	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$19.30	\$461,945.50	\$11.79	\$282,193.65
	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.38	\$219,953.46	\$10.29	\$123,140.43
	TOTAL LOW GROUP ITEMS 3 THROUGH 3C				\$758.963.86		Non- \$459.998.25 Responsiv

TEM	SPREADSHEET FOR BID 034-JJ01				9	AFETY TEAM CORP		SECURITY CONS	SULTANT MANGEMENT AGE	ENCY
EM	DESCRIPTION OF ITEM	EST.	UNIT	1	ICE UNIT	Extended Price		PRICE PER UNIT	Extended Price	********
	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV, and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.			FER	CNIT			PER UNIT		200
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.									
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE									
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$11.92		\$47,596.56		\$16.90	\$67,481.70	
1B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$11.89		\$284,587.15		\$15.00	\$359,025.00	
1C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$10 .89		\$130,320.63		\$13.50	\$161,554.50	
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C					\$462,504.34	Non- Responsive		\$588,061,20	
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.			,						
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET									_
Α	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$11.92		\$47,596.56		\$16.90	\$67,481.70	
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$11.89		\$284,587.15		\$15.00	\$359,025.00	
с	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$10.89		\$130,320.63		\$13.50	\$161,554.50	Personal
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis.					\$462,504.34	Non- Responsive		\$588,061.20	
4	Vendors must bid all items.									
4	NW 54TH STREET TO FLAGLER STREET									
1	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$11.92		\$47,596.56		\$16.90	\$67,481.70	
4	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$11.89		\$284,587.15		\$15.00	\$359,025.00	
1	Inarmed Security Guard (as per bid specifications)	11,967	Hours	\$10.89		\$130,320.63		\$13.50	\$161,554.50	
7	FOTAL LOW GROUP ITEMS 3 THROUGH 3C					\$462,504.34 F	lon- lesponsive		\$588,061.20	

2 2	SPREADSHEET FOR BID 034-JJ01			SUNRISE SECU	RITY AGENCY & MANA	GEMENT.	THE PE	ACE KEEPERS SECURITY
ITEM	DESCRIPTION OF ITEM	EST.	TINU	PRICE PER UNIT	Extended Price	· / · · · · · · · · · · · · · · · · · ·	PRICE PER UNIT	Extended Price
	All armed security guard services are to be furnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV, and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.			PENOMI			PERONII	
	GROUP I: items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.							
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE							
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$13.99	\$55,862.07		\$14.37	\$57,379.41
1B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$12.99	\$310,915.65		\$12.79	\$306,128.65
1C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.69	\$139,894.23		\$11.39	\$136,304.13
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C				\$506,671.95	Non- Responsive		Non- \$499,812.19 Responsive
	GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis. Vendors must bid all items.							
	GRATIGNY DRIVE (119TH STREET) TO 54TH STREET							
	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$13.99	\$55,862.07		\$14.37	\$57,379.41
2B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$12.99	\$310,915.65		\$12.79	\$306,128.65
2C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$ 11.45	\$137,022.15		\$11.39	\$136,304.13
	TOTAL LOW GROUP ITEMS 2 THROUGH 2C				\$503,799.87	Non- Responsive		Non- \$499,812.19 Responsive
	GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis. Vendors must bid all items.	,						
	NW 54TH STREET TO FLAGLER STREET							
3A .	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$13.99	\$55,862.07		\$14.37	\$57,379.41
3B /	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$12.99	\$310,915.65		\$12.79	\$306,128.65
sc (Inarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.69	\$139,894.23		\$11.39	\$136,304.13
	FOTAL LOW GROUP ITEMS 3 THROUGH 3C				\$506,671.95	Non- Responsive		Non- \$499,812.19 Responsive

	SPREADSHEET FOR BID 034-JJ01			UNION	SECURITY SERVICES		ANGUARD SECURITY	
TEM	DESCRIPTION OF ITEM	EST.	UNIT		Extended Price	PRICE	Extended Price)
	All armed security guard services are to be turnished in accordance with the attached specifications and appendixes. Each Group(I,II,III,IV and V) will be awarded as a Total Low to a Primary, 1st Alternate and 2nd Alternate.	1		PER UNIT		PER UNIT		
	GROUP I: Items 1A, 1B, and 1C, will be awarded on a total low bid basis. Vendors must bid all items.							
	GRATIGNY DRIVE (119TH STREET) TO BROWARD COUNTY LINE							
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$17.14	\$68,440.02	\$13.43	\$53,625.9	9
18	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$15.24	\$364,769.40	\$12.40	\$296,794.0	
1C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$13.74	\$164,426.58	\$11.69	\$139,894.23	3
	TOTAL LOW GROUP ITEMS 1 THROUGH 1C GROUP II: Items 2A, 2B, and 2C, will be awarded on a total low bid basis.				\$597,636.00	<u> </u>	\$490,314.22	FIRST ALTERNATE
	Vendors must bid all items. GRATIGNY DRIVE (119TH STREET) TO 54TH STREET							
A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$17.14	\$68,440.02	\$13,43	\$53,625.99	
в	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$15.24	\$364,769.40	\$12.40	\$296,794.00	
С	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$13.74	\$164,426.58	\$11.69	\$139,894.23	
٦	TOTAL LOW GROUP ITEMS 2 THROUGH 2C GROUP III: Items 3A, 3B, and 3C, will be awarded on a total low bid basis. Vendors must bid all items.				\$597,636.00		\$490,314.22	FIRST ALTERNATE
٦	NW 54TH STREET TO FLAGLER STREET	-						
`	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$17.14	\$68,440.02	\$13.43	\$53,625,99	
<u>.</u>	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$15.24	\$364,769.40	\$12.40	\$296,794.00	
	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$13.74	\$164,426.58	\$11.69	\$139,894.23	
-	FOTAL LOW GROUP ITEMS 3 THROUGH 3C				\$597,636.00			FIRST ALTERNATE

	CDDEADCUEET EOD DID 074 1104						
	SPREADSHEET FOR BID 034-JJ01			AL	ANIS SECURITY INC.	ALLIED BARTO	N SERCURITY SERVICES,LLC
ΓEΜ	DESCRIPTION OF ITEM	EST.	UNIT	PRICE	Extended Price	PRICE	Extended Price
_		QTY	-	PER UNIT		PER UNIT	
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.						
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY						
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.90	\$67,481.70	\$21.65	\$86,448.45
48	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.95	\$357,828.25	\$19.49	\$466,493.15
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.49	\$137,500.83	\$16.32	\$195,301.44
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C				NON- \$562,810.78 RESPONSIVE		\$748,243.04
	GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis. Vendors must bid all items.				·		
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE						
5A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.90	\$67,481.70	\$21.65	\$86,448.45
5B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.95	\$357,828.25	\$17.49	\$466,493.15
5C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.49	\$137,500.83	\$16.32	\$195,301.44
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				NON- \$562,810.78 RESPONSIVE		\$748,243.04

	SPREADSHEET FOR BID 034-JJ01			ARRO	W SECURITY CORP.	BAYU	S SECURITY SERVICES INC.
TEM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.		-				
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY				,		
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.85	\$79,261.05	\$12.95	\$51,709.35
4B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$18.50	\$442,797.50	\$ \$11.90	\$284,826.50
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$14.25	\$170,529.75	\$10.67	\$127,687.89
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis. Vendors must bid all items.				\$692,588.30		PRIMARY Meeting \$464,223.74 Specification
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE						
šΑ	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.85	\$79,261.05	\$12.95	\$51,709.35
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$18.5O	\$442,797.50	\$11.90	\$284,826.50
с	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$14.25	\$170,529.75	\$10.67	\$127,687.89
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$692,588.30		PRIMARY Meeting \$464,223.74 Specifications

	SPREADSHEET FOR BID 034-JJ01			СН	II-ADA SECURITY	DBH SECURITY& MULTIPLE SERVICES		
TEM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price	
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.							
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY							
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$ 24.50	\$97,828.50	\$15.85	\$63,289.05	
4B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$22.50	\$538,537.50	\$15.85	\$379,369.75	
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$16.00	\$191,472.00	\$15.85	\$189,676.95	
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C				\$827,838.00		\$632,335.75	
	GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis. Vendors must bid all items.							
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE			,				
5A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$24.50	\$97,828.50	\$15.85	\$63,289.05	
5B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$22.50	\$538,537.50	\$ 15.85	\$379,369.75	
5C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$16.00	\$191,472.00	\$ 15.85	\$189,676.95	
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$827,838.00		\$632,335.75	

	SPREADSHEET FOR BID 034-JJ01					FIFTY (50) ST	FIFTY (50) STATE SECURITY SERVICE, INC.		
EM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price		
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.								
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY								
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$25.00	\$99,825.00	\$25.00	\$99,825.00		
48	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$20.00	\$478,700.00	\$21.00	\$502,635.00		
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.00	\$215,406.00	\$18,00	\$215,406.00		
	TOTAL LOW CROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis. Vendors must bid all items.				\$793,931.00		\$817,866.00		
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE								
iΑ	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$25.00	\$99,825.00	\$25.00	\$99,825.00		
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$20.00	\$478,700.00	\$21.00	\$502,635.00		
с	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.00	\$215,406.00	\$18.00	\$215,406.00		
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$793,931.00		\$817,866.00		

_	SPREADSHEET FOR BID 034-JJ01		GU	ARD ONE SECURITY	JUNO SECURITY AGENCY MULTI SERVICES, INC		
TEM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.						
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY						
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.50	\$65,884.50	\$87.85	\$350,769.08
4B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$15.50	\$370,992.50	\$478.70	\$11,457,684.50
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.00	\$143,604.00	\$191.47	\$2,291,345.42
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis.		T T		\$580,481.00		\$14,099,799.00
	Vendors must bid all items.	Vic. Lawrence					
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE						
5A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$16.50	\$65,884.50	\$87.85	\$350,769.08
5B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$ 15.50	\$370,992.50	\$478.70	\$11,457,684.50
sc.	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.00	\$143,604.00	\$191.47	\$2,291,345.42
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$580,481.00		\$14,099,799.00

	SPREADSHEET FOR BID 034-JJ01	SPREADSHEET FOR BID 034-JJ01					NOR-SEG		
EM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price		
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.								
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY								
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$15.80	\$63,089.40	\$21.33	\$85,170.69		
4B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.50	\$347,057.50	\$20.00	\$478,700.00		
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.90	\$154,374.30	\$17.27	\$206,670.09		
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis.				2nd \$564,521.20 ALTERNATE		\$770,540.78		
	Vendors must bid all items.		Ш						
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE								
	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$ 15.80	\$63,089.40	\$21.33	\$85,170.69		
5B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$14.50	\$347,057.50	\$20.00	\$478,700.00		
5C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$12.90	\$154,374.30	\$17.27	\$206,670.09		
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				2nd \$564,521.20 ALTERNATE		\$770,540.78		

	SPREADSHEET FOR BID 034-JJ01	READSHEET FOR BID 034-JJ01					-Abena security corp
TEM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.						
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY						
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.30	\$77,064.90	\$13.69	\$54,664.17
48	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$19.30	\$461,945.50	\$11.79	\$282,193.65
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.38	\$219,953.46	\$10.29	\$123,140.43
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis.				\$758,963.86		Non- \$459,998.25 Responsiv
	Vendors must bid all items. CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE			er also er de			
	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$19.30	\$77,064.90	\$13.69	\$54,664.17
в	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$19.30	\$461,945.50	\$11.79	\$282,193.65
ic	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$18.38	\$219,953.46	\$10.29	\$123,140.43
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$758,963.86		Non- \$459,998.25 Responsiv e

	SPREADSHEET FOR BID 034-JJ01	SPREADSHEET FOR BID 034-JJ01					SECURITY CONSULTANT MANGEMENT AGENCY		
EM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price		PRICE PER UNIT	Extended Price	
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.								
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY								
IA.	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$li.92	\$47,596.56	i i	\$16.90	\$67,481.70	
18	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$11.89	\$284,587.15		\$15.00	\$359,025.00	
iC	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$10.89	\$130,320.63		\$13.50	\$161,554.50	
	TOTAL LOW CROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis. Vendors must bid all items.				\$462,504.34	Non- Responsive		\$588,061.20	
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE								
iA.	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$11.92	\$47,596.56		\$16,90	\$67,481.70	
В	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$11.89	\$284,587.15		\$15.00	\$359,025.00	
с	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$10.89	\$130,320.63		\$13.50	\$161,554.50	
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$462,504.34	Non- Responsive		\$588,061.20	

•	SPREADSHEET FOR BID 034-JJ01		SUNRISE SECURITY AGENCY & MANAGEMENT.			THE PEACE KEEPERS SECURITY			
TEM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRICE PER UNIT	Extended Price		PRICE PER UNIT	Extended Price	
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.								
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY								
4A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$13.99	\$55,862.07		\$14.37	\$57,379.41	
4B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$12.99	\$310,915.65		\$12.79	\$306,128.65	
4C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.69	\$139,894.23		\$11.39	\$136,304.13	
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis.		1		\$506,671.95	Non- Responsive		Non- \$499,812.19 Responsive	
	Vendors must bid all items.								
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE								
5A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$13.99	\$55,862.07		\$14.37	\$57,379.41	
5B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$12.99	\$310,915.65		\$12.79	\$306,128.65	
5C	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$11.69	\$139,894.23		\$11.39	\$136,304.13	
	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$506,671.95	Non- Responsive		Non- \$499,812.19 Responsive	

TEM	SPREADSHEET FOR BID 034-JJ01			UNION	SECURITY SERVICES	v	VANGUARD SECURITY		
IEM	DESCRIPTION OF ITEM	EST. QTY	UNIT	PRIČE PER UNIT	Extended Price	PRICE PER UNIT	Extended Price)	
	GROUP IV: Items 4A, 4B, and 4C, will be awarded on a total low bid basis. Vendors must bid all items.								
	SOUTH CENTRAL AREA OF THE DISTRICT COMPRISED OF THE ZONE BETWEEN FLAGLER STREET AND CORAL WAY								
1A	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$17.14	\$68,440.02	\$13.43	\$53,625.99		
1B	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$15.24	\$364,769.40	\$12.40	\$296,794.00		
ıc	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$13.74	\$164,426.58	\$11.69	\$139,894.23		
	TOTAL LOW GROUP ITEMS 4 THROUGH 4C GROUP V: Items 5A, 5B, and 5C, will be awarded on a total low bid basis.		ī		\$597,636.00			FIRST ALTERNAT	
4	Vendors must bid all items.								
	CORAL WAY (SW 24TH STREET) TO MONROE COUNTY LINE								
4	Armed Security Guard - Level A (as per bid specifications)	3,993	Hours	\$17.14	\$68,440.02	\$ \$13,43	\$53,625.99		
4	Armed Security Guard - Level B (as per bid specifications)	23,935	Hours	\$15.24	\$364,769.40	\$12.40	\$296,794.00		
1	Unarmed Security Guard (as per bid specifications)	11,967	Hours	\$13.74	\$164,426.58	\$11.69	\$139,894.23		
7	TOTAL LOW GROUP ITEMS 5 THROUGH 5C				\$597,636.00		\$490,314.22	FIRST ALTERNATE	